Pre-Calculus - Honors
Worksheet #17 Answers
1) X2+ 8x = -14 2) 4 -4x:=99
¥+ Bx+16 = -14 + 16 40F - x) = 99
(x+4)2=2 'xz-ngg
x+4=+2 4
x=-4+2 ¥-x+1=99+1
4 4 4
(x - $) = 100
3) x - 10x = -22 4
X -10x + 25 = -22 + 25 (x-42=25
(x-5f=3 X-4=215
x-5=13 x=415
x=5+3
4) X +12x=0 5) 9x°-18x= -3
x* + 12x + 36 = 36 9(x* - 2x) = -3
(x + 6)° = 36 X2 - 2x = -}
x+6=216 “o2xr1=1-1%
x = {0, -12) - 17 =3
x—l=t‘f§
x=1+V%=131(8)3
6) x2+3x=1 -
¥ +3x+9=1+9 7) V26 - {Ix=x -4
4 4 26 - 11x = x* - 8x + 16
x+3)P=4+9 0=x*+3x-10
4 4 (x+5B)x-2)=0
x+%=¢/;’_3_ x = {-5, 2)
4 ch: V26 + 55+ 4 = .5
x=-3+13 -Bl+4:=-5
2 2 9+4=.5
' -5 = -5
8) |x -10] = »® - 10x 26 -22+4:2
x-10=x*-10x -x+10=x* - 10x Nt +4=2
¥ -11x+10=0 x*-9x-10=0 ~2+4=2
(x-10){x-1)=0 (x-10)x+1)=0 2=2
x = {10, 1}. x = {10, -1}
ch: |10 - 10| = 100 - 100 9 y=4x+7
0=0 5
|11 -10]=1-10 inv: x = 4y + 7
9% -9 5
j-1-10 =1 + 10 Bx =4y + 7
1=11 Bx - 7 = 4y
x = {10, -1) fi(x) = 5x - 7
4
10) y=x*+5 x-5=y
inv:i x=y*+5 fix)=Nx -5

Lesson 17



